<t (When Req'd)

:

X

i 3'Min

d3-aw

d3-aw

—=— 3'Min|{#

Position of Guy

c2-d4-ek

A =

A B C D A B C D
1| ITEM |PART # MATERIAL QTY| 1| ITEM | PART # MATERIAL QTY
2 a 4310 Insulator, Pin Type 4 (15 aw 9100 Washer, Spring 8
3 a2 4311 Insulator, Clamp Type 2 |16 cm 9471 Insulator, Spool 1
4 c 9371 Bolt, Machine - 1/2" 4 |17 cu 2040 Brace, Wood 84" X 24" 4
5 c2 9372 Bolt, Machine - 5/8" 2 |18 da 2155 Clevis, Rigid 1
6 d 9098 Washer, Round 1/2" 4 119 ek 9094 Locknut, 1/2" 4
7 d2 9091 Washer, Square - 2" X 2" 2 120 ek 9096 Locknut, 5/8" 12
8 d3 9091-3-5/8 | Washer, Square - 3" 11//16" 16 |21 ek 9096 Locknut, 3/4" 2
9 d4 9092 Washer, Curved - 3" 11/16" 1 (22 p 4715 Salisbury Coverup 8'
10 ds 9091-4 Washer, Square - 4" 13/16 2 123 pl 4766 Perch Guard, 36" 2
11 f 4375 Pin, Crossarm Saddle 6 |24 rp2 4764 Perch Guard, 24" 2
12 g 4090 Crossarm, 10' Tangent 2 |25 p5 4780 Zena Spikes - 30" 2
13 n 9363 Bolt, Double Arming, 5/8" Req'd Length 5 126 rp7 4769 Perch Guard, Extension 6
14 n 9364 Bolt, Double Arming, 3/4" Req'd Length 1 |27 p8 4743 Perch Guard, Pole Cap 1

Design Parameters:
1. See Table V of RUS Bulletin 1728F-803 24'9/14'4KV’
Notes: 3-PHASE DOUBLE PRIMARY SUPPORT,
1. Center phase and/or neutral may be located on opposite side of the CROSSARM CONSTRUCTION
pole where necessary to avoid crossing of wires in midspan. L ARGE CONDUCTORS
11/717 _/j;%%fpﬁﬂm VC2.52LRG
REV.B A Touchstone Energy® Cooperative K:__h 1




